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B. Com. (Part 1) EXAMINATION, 2021

(Old Course)
(Group—II1 : Applied Economics)
Paper First

BUSINESS STATISTICS
Time : Three Hours ] [ Maximum Marks : 75
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TPIE—1
(UNIT—1)
1. ouferiad amgfy faqRor & Ay, Afegd don qRSE A
DI :
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100—200 15
100—300 33
100—400 63
100—500 83
100—600 100

Calculate mean, median and mode from the following
frequency distribution :

Income between in ¥ No. of Persons
100—200 15
100—300 33
100—400 63
100—500 83
100—600 100

JIdT
(Or)

el B TG W iR W d eR aasy |
GIEEIERIE=IE R CE
Distinguish between ‘primary sources’ and ‘secondary

sources’ of data. What precautions would you take before

using data collected from secondary sources ?
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FPIE—2
(UNIT—2)
2. ‘UG’ W FI e GHARY AT AUGRU Bl FRUE Al

e AUl H SR BT |
Explain the meaning of term ‘Dispersion’ and distinguish
between absolute and relative measures of dispersion.

AYdT

(Or)

fFforRed sifepel | aTel &1 fawwar urid S1d S :

3i® (| ) <ICIN]
8 70
16 50
24 40
32 34
40 19
48 0

P.T.O.
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Find Bowley’s coefficient of skewness from the following

data :

Marks (more than) Frequency
8 70
16 50
24 40
32 34
40 19
48 0
IPE—3
(UNIT—3)

3. &g AT gR1 MfaRad sffdel | YO Toiidl Sl oM

PRP S TATITAT THBROT Pl T DI

X Y
130 134
132 136
134 128
134 136
136 144
138 140
142 138
146 140
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Calculate regression coefficient from the following data and

thereafter frame the two regression equations by short-cut

method :

X Y
130 134
132 136
134 128
134 136
136 144
138 140
142 138
146 140

SVEH
(Or)

(&) HEaw UG o qRIe fayd @ B ?

What is probable error of coefficient of correlation ?

i oo o AT & e 9y |

Explain the merits and demerits of Spearman’s rank

difference method.

P.T.O.
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SPIE—4
(UNIT—4)
@) Fduie e R €17 FHsE |
“Index numbers are economic barometers.” Explain.
@ IR &1 YEdie UE ey qAHG T Sl Al & 2
Why Fisher’s index is called as ideal index ?
qdr
(Or)
UG Il PREM & IR (F9IR el H) & dids -
T g

g I
2014 77
2015 88
2016 94
2017 85
2018 91
2019 98
2020 90

@) Fam @ AT R WA of@ IW I B A0
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Below are given figures of production (in thousand tons) of a

sugar factory :

Years Production
2014 77
2015 88
2016 94
2017 85
2018 91
2019 98
2020 90

(a)

(b)

Fit a straight line by the least squares method and

calculate the trend values.

What is the monthly increase in the production of

sugar ?
ThIe—5
(UNIT—S5)
ARG QA | T AR B 2

What is meant by business forecasting ?

TGS Q@A & G RigTil bl Taesy |

Discuss the important theories of business forecasting.

P.T.O.
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(Or)
(@) TS U S GR BdT ST B U Bd H 6 B 3T Bl
AR T wa H Ue v W@ om @ Wikl S
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A dice is thrown twice. Find the probability of
obtaining a ‘6’ in the first trial and an odd number in
the second trial.

@ < U P B W 7 AT A1 BT AT 3 DI WRIGAT S0
PIY |

Find out the probability of getting a total of either 7 or

11 in a single throw with two dice.
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